ABBSOFT COMPUTERS

Entrepreneurship & Small Business Management
1 Mark Question

Q1. ________ is a person responsible for setting up a business.

1. Entrepreneur
2. Businessman
3. Manager

4. Planner

Ans. 1

Q2. Entrepreneurship involves mobilizing the resources & combining them to initiate change in production. T/F

Ans: T

Q3. Entrepreneurs are Risk Bearers T/F

Ans: T

Q4. Entrepreneur always introduces something new or can be an imitator.  T/F

Ans: T

Q5. Individual Entrepreneur and Institutional Entrepreneurs are different. T/F

Ans: T

Q6. Industrial Entrepreneur is a person who demonstrates his innovative skill in organizing a corporate undertaking. T/F

Ans: F

Q7. Entrepreneur of large scale business like Tata, Birla , Etc are Instigated Entrepreneur T/F

Ans: F

Q8. Induced Entrepreneur is one who is induced to take up an entrepreneurial activity due to policy measures of the government to start a new venture. T/F

Ans: T.

Q9.An Entrepreneur is different from manager T/F

Ans. T

Q10.Bank Overdraft is a source of short term Finance T/F

Ans T

Q11. Trade Credits are source of Long term Finance T/F

Ans: F

Q12. Borrowing of large money at a rate of interest fairly higher than the actual rate of return on its capital employed is a cause of Over –capitalization T/F

Ans: T

Q13. To reduce the claims of shareholders, debentures holders & creditors is a remedial measure for over-Capitalization. T/F

Ans: T

Q14. IFCW stands for ____________ 

1. International Finance Company, Washington.

2. International Finance Corporation, Washington.

3. Intercompany Finance Corporation, Washington.

4. International Federal Corporation, Washington.

Ans.2

Q15. EICI stands for__________

1. Export Inspector of Council of India

2. Export Inspection Company of India

3. Export Inspection Council of India

4. Export Investigation Council of India

Ans: 3

Q16. ECGC stands for________

1. Export Credit & Guarantee Company

2. Export Company & Guarantee Corporation 

3. Export Credit & Guarantee Collaboration

4. Export Credit & Guarantee Corporation 

Ans: 4

Q17. SIDO stands for ________

1. Small Industries Developing Organization

2. Small Industries Development Organization

3. Short Industries Development Organization

4. Small Industries Deployment Organization

Ans: 2

Q18. DIC stands for ____________

1. Disassembled Industries Centers

2. District Industries Collaboration

3. District Industries Centers

4. Developing Industries Centers

Ans: 3

Q19. NIESBUD stands for _________

1. National Institution for Entrepreneurship & Small Business Development

2. National Institute for Enterprise & Small Business Development

3. National Institute for Entrepreneurship & Small Business Development

4. National Institute for Entrepreneurship & Small Businessman Development

Ans: 3

Q20 XISS stands for _________

1. Xavious Institute of Social Service 

2. Xavier Institute of Social Service 

3. Xavier Institute of Socializing Service 

4. Xavier Institution of Social Service 

Ans: 2

Q21. MPCO stands for _________

1.Madhya Pradesh Company for Organization Ltd.

2. Madhya Pradesh Consultant for Organization Ltd.

3.Middle Planning Consultancy Organization Ltd.

4.Madhya Pradesh Consultancy Organization Ltd.

Ans: 4

Q22. CYSEC stands for _________

1. Calcutta ‘Yes’ Self-employment Centre.

2. Calcutta ‘Y’ Self-employment Centre.

3. Calcutta ‘Y’ Self-employment Company.

4. Calcutta ‘Y’ Service-employment Centre.

Ans: 2

Q23. IDBI stands for _________

1. Industry Development Bank of India

2. Industrial Development Bank of Investment

3. Industrial Development by Bank of India

4. Industrial Development Bank of India

Ans: 4

Q25. TCO stands for _________

1. Tata Consultancy Organization

2. Technical Company Organization

3. Technical Configured Organization

4. Technical Consultancy Organization

Ans: 4

Q26. EGB stands for _________

1. Enterprise development Bureau

2. Entrepreneurial deli censing Bank

3. Entrepreneurial development Bureau

4. Entrepreneur development Bureau

Ans: 3

Q27 CED stands for _________

1. Centre for enterprise Development

2. Consultancy for entrepreneurship Development

3.  Centre for entrepreneurship Deployment

4. Centre for entrepreneurship Development

Ans:4

Q28 SIET stands for _________

1. Small Industries Extension & Training Enterprise

2. Small Industries Extension & Training Institute

3. Small Industries Extension & Training Institute

4. Small Investment Expansion & Trading Institute

Ans: 2

Q29 RCF stands for _________

1. Revising Capital foundation

2. Remedial Capital foundation

3. Risk Capital foundation

4. Risk Capital formation

Ans: 3

Q30 DGTD stands for _________

1. Directing Guidelines of Technical Development

2. Directorate General of Training & Development

3. Directorate General of Technical Development

4. Directorate Governor of Technical Development

Ans: 3

Q31. IIC stands for _________

1. Investment Institution Centre

2. Indian Investment Company

3. Indian Investment Centre

4. Indian Investment Corporation

Ans: 3

Q32.ICICI stands for _______

1. Industrial Company & Investment Corporation of India Limited

2. Industrial Corporation & Investment Company of India Limited

3. Industrial Credit & Investment Corporation of India Limited

4. Investment Credit & Investment Corporation of India Limited

Ans: 3

Q33. Who toke the lead to extend financial assistance to small-scale industries

1. SBI

2. IFCI

3. IRBI
4.none of the above

Ans: 1

 Q34 which act was passed by parliament on September 28,1951

1. State Funds for Corporation Act

2.State Finance Company Act

3. State Finance Corporation Act

4. Small Finance Corporation Act

Ans: 3

Q35 The LIC was established under the LIC Act in 

1. 1954

2. 1950
3. 1956
4. None of the above

Ans: 3

 Q36 _____ - Capitalization signifies a situation when an enterprise possesses excess of assets in relation to its requirement.

1. Under
2. Over

3. Actual

4. proper

Ans: 2

Q37 To split up the shares of the enterprise is a remedial measure for ___-Capitalization

1. Over

2. Under
3. Actual
4. None of the above

Ans: 2

Q38 TQI, SQM ,TQC are  various names for TQM    T/F

Ans: T

Q39 TQM & ISO 9000 both focuses on customer satisfaction .   T/F

Ans: F

Q40 Is Diversification a costly proposition. T/F

Ans: T

2 Marks Question

Q 42. “Seed Capital Scheme”  has been operated by 

1. SBI

2. IDBI 
3. NSCI
4. None of the above

Ans : 2

Q43. An ____ in a tract of land which is subdivided and developed according to a comprehensive plan for the use of a community of industrial enterprises.

1. Industrial plan
2. Industrial Estate
3. Industrial unit 
4. None of the above

Ans: 2

Q44. ____ signifies a situation when an enterprise process excess of assets in relation to its requirement .

1. Over capitalization
     2. profit
3. proper capitalization    4. Actual capitalization

Ans: 1

Q45.  Small sector were classified into three categories by  IRP 1977

1.Cottage & household industries, Tiny Sector, small-scale industries.

2.Cottage & household industries, large, small-scale industries.

3.Cotton & household industries, Tiny Sector, small-scale industries.

4. Household industries, Tiny Sector, small-scale industries.

Ans: 1

Q46 Engineering expenses related to the business & legal charges are examples of ___

1. Preliminary Expenses   2. Functional Expenses       3. Operational expenses 4. None  Ans: 1

Q47 On the basis of organization set-Up following are the type of Industrial estate

1. Government ,Public, cooperative , Municipal Industrial estate

2. Government ,Private, cooperative , Municipal Industrial estate

3. Government ,Public, cooperative , Municipal Industrial estate

4. Government ,Private, public , Municipal Industrial estate

Ans: 2

Q48 Capital is arranged from Internal sources refers to the owner’s own money known as

1. Profit
2. Capital
3. Equity
4. None of the above

Ans: 3

Q49______ is usually done by a financial institution which besides making an analysis of cost & benefits of a proposed project assesses the project from the various aspects of an investment proposition before extending finance.

1. Project planning 
2. Project appraisal
3. Project costing
4. none of the above

Ans: 2

Q50. According to Peter F. Drucker there are three kind of opportunities

1. Additive, Complementary, Breakthrough

2. Additive, Complementary, Supplementary

3. Additive, Complementary, Breakthrough

4. Additional, Complementary, Breakthrough

Ans: 3

Q51 Match the following

1. Pre-training
Phase

a. Motivation & skills

2. Development Phase

b. protecting from drawbacks & shortcomings

3. Post training Phase

c. Preparation of syllabus

A. 1a;2b;3c;

B.1c;2a;3b;
C. 1b;2a;3c;
D. None of the above

Ans: A

Q52  EDP concentrates its attention to give motivation, awareness to all citizens & create favorable & healthy environment.  T/F

Ans: F

Q53 Manager needs to process distinct qualification and also bears all the risk involved in the enterprise. T/F

Ans: F

 Q54 ____ is not the trait of entrepreneurs

1.Innovation
2. Decision making
3. skillful management
4. None of the above

Q55 SIDO was established in 

1. 1995
2. 1991
3.1990

4.1978

Ans: 3

Q56  IPR 1956 re-emphasized the spirit of IPR 1980 T/F

Ans. F

Q57 IPR ____ initiated the modern SSI in India

1. 1956
2. 1952
3. 1990
4.1948

Ans:1

Q58 The main objective of setting up DICs was to promote under a single roof all the services & support required by small & village entrepreneurs. This scheme was introduced in May ____

1. 1970
2. 1975
3. 1978
4. None of the above

Ans: 3

Q59 MODVAT is to shift the burden of excise taxation away from inuts on to their final products . T/F

Ans. T

Q60 Diversification is an example of Internal growth strategy & Merger is an example of External growth strategy. T/F

Ans: T

4 Marks Questions


Q61.






1. B: Based on performance;  A: Working Capital

2. A: Based on performance;  B: Working Capital

3. A: Based on stability B: Fixed Assets 

4. None of the above

Ans: 2

Q62 Which is not the content of the Project Report

1. Transport

2. Products

3. Communication
4. All the above

Q63 Following are not the main problem for the women Entrepreneurs:

1. Inefficient arrangement  for marketing Sale

2. Stiff Competition

3. Low Mobility

4. Government Measures

5. Lack of education

6. Social attitudes

7. Children & mothers

8. Training Facility

A: 4,3,2

B: 4,7,8
C:5,3,8

D: 6,7,8

Ans: B

Q64 Match the following

1. Managerial Competence


a. nature & type of competition

2. Technical Feasibility


b. projections of  profitability

3. Market Analysis



c. abilities of promoters are to be judged

4. Economic Viability


d. Power & water facility, Size of plant

5. Financial Viability


e. Cash flow estimates, Projected balance 

sheet


A:1a;2b;3c;4d;5e     B:1c;2d;3a;4b;5e      C:1a;2e;3d;4c;5b
     D:1e;2d;3c;4a;5b

Ans: B

Q65 Match the following

1. Absorption
 

   a. company manufacturing steel safes & shaving

 cream

2. Amalgamation


    b. an enterprise acquired by the big one

3. Conglomerate Diversification
    c. firms merge to form new firm

4. Vertical Diversification
    d. setting up retail shop by companies into 

manufacturing

A:1b;2c;3a;4d

B1a;2b;3c;4d

C:1d;2c;3b;4a

D:1c;2d;3a;4b

Ans: A

Q66  Which of the following statement is false

1.Sometimes merger leads to monopoly 

2. Merging leads to wastage of resources

3. Industrial sub-contracting & commercial sub-contracting are same

4.Goods produced under sub-contracting system are often qualitatively inferior

A:1;4

B:2,4

C:2,3

D: 3,4

Ans: C

Q67 Match the following

1. Franchising


a. Expansion & diversification

2. Joint Venture


b. Joint venture & Mergers

3. Internal Growth strategy
c. restricted partnership between 2or more firms    


4. External growth strategy
d. selectively distributing goods or services

A:1d;2c;3a;4b

B:1a;2b;3c;4d

C:1d;2c;3b;4a

D1d;2a;3c;4b

Ans: A

Q68 TQM can be conceptualized into the following three processes

1. Quality Planning; Management Process for continuous improvement; People interaction 

2. Quality Process; Management Process for continuous improvement; People Process

3. Quality Programming; Management Planning recruitment; People Process

4. Quality Planning; Management Process for continuous improvement; People hiring

Ans: 2

Q69 which of the following statement is true

1.TQM & ISO 9000 both are never ending journey

2  TQM is integral to company strategy 

3. TQM involves documents of what you do 

4. ISO9000 is not necessarily customer focused

A:1,3,

B:2,4

C:2,4

D:4,1

Ans: B

Q70. TQM involves the following process

1. Customer satisfaction

2. Processes

3. Team Work

4. Documentations 

5. Continuous Improvement

6.  Personal Initiative

A:1,2,3,5,6
B:2,3,4,5,6
C:3,4,5,2,1
D:6,5,3,2,1

Ans: A

Q71 Match the following

1. Innovative Entrepreneurs
a. They do not dare to drive from traditional lines

2. Drone Entrepreneurs

b. preference to customs, religions, past habits

3. Fabian Entrepreneurs

c. introduce new products & new production techniques

4. Initiative Entrepreneurs
d. entrepreneurs of developing countries.

A:1a;2b;3c;4d
B:1c;2a;3d;4b

C:1a;2d;3c;4b

D:1c;2a;3b;4d

Ans:D

Q72 Match the following

1.Size of the enterprise

a. leverage effect

2. Cash Flow



b. investors prefer to lend money to large enterprises

3.Purpose of financing

c. affects the capital structure of the enterprises

4.Trading on Equity


d. ability to discharge its fixed obligations

A:1d;2c;3b;4a

B:1b;2a;3d;4c

C:1b;2d;3c;4a

D:1a;2b;3c;4d

Ans: C

Q73 which is not the source of raising term loan

1. Shares
2..Dividnds
3. Financial Banks
4. Public Deposits
5. Retention of

 profits

Ans: 2

Q74 Match the Process definition steps with their functions

1.List team outputs


a. to determine the resources required

2.List process activities

b. to provide examples of the task involved

3. Define process boundaries

c. to document the results of the work performed

4.Identify inputs


d. to establish beginning of the tasks involved

A:1a;2b;3c;4d

B:1a;2d;3b;4c

C:1c;2b;3d;4a

D1c;2b;3a;4d

Ans:C

Q75  Which of the following statements  are false

1.Entrepreneur needs to possess distinct qualification in terms of management theory

2. Entrepreneur delegates action , Supervising & reporting 

3. Manager pleases self & customer

4. Manager attention is primarily on events inside corporation

A:2,4

B:1,2

C:2,4

D: 1,4

Ans: D

Financial Needs





       A





Based on period of use





Fixed Capital





      B





Long-Term capital





Short-term Capital









8

